= A
N = 0] &F AF S & AN A
20188 &= 20 A LEHSH A Xl
AR 2X2AHL=2 2M @ A =X
MY | ZMEPH
O HASHEMSGHY S (29l 8)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
SXAHL= 1,799,845,497 1,551,342, 109 248,503, 388
= 1,413,807,414
Xl 14,077,511
Jl 77,660,791
= 294,299,781
ALS S K| 442 263,556 422,306,454 19,957,102
= 310,505,863
Xl 11,247,000
J| 1,719,550
o= 118,791,143
Jl=Me g & 333,061,001 325,092,583 7,968,418
= 296,757,367
J| 1,719,550
o= 34,584,084
MASHSAIG S E= 333,061,001 325,092,583 7,968,418
= 296,757,367
J| 1,719,550
o= 34,584,084
IEABNMZSEHSAE 192,000 192,000 0
307 QI2t0| ™ 120,000 120,000 0
11T A EXAIEEX 120,000 120,000 0
OZGZCYWa2AXJ 120,000
308 XX SHHSOIH 72,000 72,000 0
01 AIXSHMENMNEXZ 72,000 72,000 0
ZCOIA2E XA (3HA) 18,000
OJ)=ZCWaI2H XK (18I0 A) 54,000
2O ZMESAIHAS (MAH) 276,429,340 273,109,001 3,320,339
= 248,703,000
== 27,726,340
308 AMXISHMSOIA 276,429,340 273,109,001 3,320,339
= 248,703,000
& 27,726,340
01 HXHHIMNEEXTZ 276,429,340 273,109,001 3,320,339
O20JZMEEXASH(MASA) 276,429,340
= 248,703,000
= 27,726,340
20 ZMEPFAIHIR(LE)(2IHEEXL) 452,405 461,510 AN9,105
308 XAXIEHSOIA 452,405 461,510 AN9,105
08 W=EJl&otistE = 452 405 461,510 AN9,105
O20J =20 (RE=0) 452 405
20| ZMESEZ X (o AHEHN) 2,002,023 1,915,011 87,012
= 1,862,000
& 140,023
308 XHXIGHH SO0l & 2,002,023 1,915,011 87,012




oW

51,750

SXAL= M A= X
[ESVELR
HASHES M HH L ES (&)
= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t
= 1,862,000
< 140,023
01 IXNHHBNEES 2,002,023 1,915,011 87,012
O =MESH(HUEHMSH) 2,002,023
2 1,862,000
< 140,023
AS=XRH AL 5,160,000 4,300,000 860,000
2 4,800,000
< 360,000
308 XX EHHSOIA 5,160,000 4,300,000 860,000
= 4,800,000
< 360,000
01 AXNHHEBAMNEES 5,160,000 4,300,000 860,000
O2g=2X X &AL 5,160,000
= 4,800,000
= 360,000
FRLIEXA 5,929,900 4,398,275 1,531,625
= 5,863,000
< 66,900
308 AHAIEHHSOIA 5,929,900 4,398,275 1,531,625
= 5,863,000
< 66,900
01 AXNSHBLEES 5,929,900 4,398,275 1,531,625
OFRLIEAXNNA 5,929,900
=2 5,863,000
< 66,900
SSAtH 22l ALXI~ 1,415,792 1,379,742 36,050
= 1,089,070
< 326,722
308 XXM SOIA 1,415,792 1,379,742 36,050
2 1,089,070
< 326,722
01 IXNSHHBANEES 1,415,792 1,379,742 36,050
LS Atel 2l ALK& 1,415,792
= 1,089,070
< 326,722
Atcll 22|l At X & 224,250 224,250 0
= 172,500
< 51,750
308 MtXIEHMSOIH 224,250 224,250 0
= 172,500
< 51,750
01 AXSHBELS 224,250 224,250 0
CJAr 2t el AF S XI & 224,250
172,500




4= =2XNA2=R SN ABST D
MY | ZMEPH
O HASHEMSGHY S (29l 8)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
ALS| = X o1& ol A H| X| & 3,673,500 4,751,850 N 1,078,350
= 3,255,000
& 418,500
308 XAHXIEHSOIA 3,673,500 4,751,850 N 1,078,350
= 3,255,000
= 418,500
01 AIXSHMENMNEX= 3,673,500 4,751,850 A 1,078,350
OARAIS S AT AHY| X & 3,673,500
= 3,255,000
=} 418,500
SHSUSEHES MU AXRA 2,203,152 1,320,564 882,588
= 1,952,160
& 250,992
308 XNXIGHSO0l& 2,203,152 1,320,564 882,588
= 1,952,160
& 250,992
01 HXHHBIMNEXS 2,203,152 1,320,564 882,588
OSHsYEsESaE MU AKX 2,203,152
= 1,952,160
o= 250,992
O ==SANME A 2,177,335 2,178,410 A 1,075
J| 1,719,550
=} 457 785
403 REXI S M S K20l & 2,177,335 2,178,410 A1,075
J| 1,719,550
= 457 785
01 IS A2E X 2,177,335 2,178,410 A 1,075
OO0III=SA MU AR 2,177,335
J| 1,719,550
& 457,785
ANEZZ ALY 20,249,658 18,204,711 2,044,947
= 19,421,000
= 828,658
308 XHXIEH SOl A 20,249,658 18,204,711 2,044,947
= 19,421,000
& 828,658
01 AIXSHHENMNEX= 20,249,658 18,204,711 2,044,947
OXE2Z A 20,249,658
= 19,421,000
& 828,658
XA XEHEH2HGH| X2 3,981,600 4,004,171 N22,571
= 3,528,000
& 453,600
308 MXISHHMSOIA 3,981,600 4,004,171 N22,571
= 3,528,000
& 453,600




M ox
40 5 4

M AEI =S X

Mo

20,444

= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t
01 AXSHHBLEES ,981,600 4,004,171 AN 22,571
OXNSNHEMEH2SH X 3,981,600
= 3,528,000
< 453,600
THE AL & O AH X2 50t Y 18,000 18,000 0
307 glz2+ol & 18,000 18,000 0
11T MISRASER 18,000 18,000 0
LI AHE AL & O AL A2 8HOHE 18,000
A& Abe 22| At 108,340 105,680 2,660
= 96,000
< 12,340
308 XtXIEHH SOl A 108,340 105,680 2,660
= 96,000
= 12,340
01 HXNHHBHELS 108,340 105,680 2,660
IR At el 2t el 108,340
= 96,000
< 12,340
S INSEHINI=E) ,003,452 1,574,857 A571,405
= 942,799
< 60,653
308 XXM S0 A ,003,452 1,574,857 A571,405
= 942,799
= 60,653
01 AXNSHHBLEES ,003,452 1,574,857 AB71,405
OsdIssd(IIx) ,003,452
= 942,799
< 60,653
S|AINSEE(XAS) 2,894,347 2,473,530 420,817
= 2,222,485
< 671,862
307 21201 A 2,894,347 2,473,530 420,817
= 2,222,485
< 671,862
11T MISAASEEX ,894,347 2,473,530 420,817
OsIYIBESE (X&) 2,894,347
= 2,222,485
S 671,862
WHeEoss& 337,333 494,012 A 156,679
= 316,889
[ 20,444
308 XXl EHH SOl A 337,333 494,012 A 156,679
316,889




A= SXAL= M A= X
MY | ZMEPH
S MASHSMtE LSS (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 HIXNHHNBHNEES 337,333 494,012 A 156,679
Ougss% 337,333
= 316,889
= 20,444
FAsAIEZSH 572,853 0 572,853
= 538,097
< 34,756
308 XXIEHH SOl A 572,853 0 572,853
= 538,097
< 34,756
01 AXHHILEES 572,853 0 572,853
OEsYISSE 572,853
= 538,097
S 34,756
NAX&EEHSAR = 59,472 59,472 0
307 21201 A 15,120 15,120 0
11 ALS S XAEE = 15,120 15,120 0
OZATNEHEHSAI =S 15,120
308 XXM SO A 44,352 44,352 0
01 HIXNHHBNEES 44,352 44,352 0
OXNSXNEMEHSA RS 44,352
AHEEESALS IR 150,000 150,000 0
308 XXM SOIA 150,000 150,000 0
01 AXHHBILEES 150,000 150,000 0
OXEedstAtE A& 150,000
C=o=sIAd2Y 2,233,534 2,215,707 17,827
= 1,563,474
< 670,060
308 MtXIEHSOIH 2,233,534 2,215,707 17,827
= 1,563,474
< 670,060
01 HXNHHNBSELS 2,233,534 2,215,707 17,827
OL=0=2XAd2d 2,233,534
= 1,563,474
< 670,060
C=0=TAEIsEZ 101,261 0 101,261
= 77,893
< 23,368
403 XA SA=0l& 101,261 0 101,261
= 77,893
< 23,368
01 X SHHMA=2E X 101,261 0 101,261
OL=eSTAEIIs2ZAY 101,261
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M ox
40 5 4

M AEI =S X

!
So
o
2
m
40
o
x
=
1
>
©
e
ox
Jo

0l &t o

=

i
2

27,000

27,000

27,000

27,000

O X &

0x
tou
>
1%
paa
{0

27,000
27,000

27,000

o= W

30,711,994
13,748,496
10,527,000

6,436,498

22,132,318

8,579,676

Xl

AAMNESRALE =&

o= 1

30,711,994
13,748,496
10,527,000

6.436,498

22,132,318

8,579,676

NANESEAMANMBIAETALY

Xl

2l

9,373,118

8,419,000
954,118

9,337,268

35,850

308 XM S0IH

X

in

9,373,118

8,419,000
954,118

9,337,268

35,850

01 XN EES
A

OX<SAS A I

Xl

H

9,373,118
9,373,118

8,419,000
954,118

9,337,268

35,850

KNAMB MBI AT HESH2SE

Xl

H

280,000

196,000
84,000

260,000

20,000

307 glztol &

Xl

H

280,000

196,000
84,000

260,000

20,000

1A SXAIE E =
A

OXISALS A I

=

280,000
280,000

196,000
84,000

260,000

20,000

AEISXIAIE S AR A @1 & X &

Mo

588, 186

411,730
176,456

588,186

307 21201 &

oA

588, 186

411,730
176,456

588,186

11T M SXAISE EX
N=

OMBISXAESAHH N E X &

SRl

588, 186
588, 186

411,730
176,456

588,186

JFAFZPE E 201 ALY

=

2,098,232

1,905,000
193,232

1,430,065

668, 167




D EXAE= M AEI =S X

A=
M NS A =X ML 3
Sl KIGASISRAY =T (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 2,098,232 1,430,065 668, 167
X 1,905,000
& 193,232
01 HIXNHHBHNEELES 2,098,232 1,430,065 668, 167
OJAM2AE ER0IAMSE (KNS EHI) 2,098,232
Xl 1,905,000
< 193,232
FHEZAI=ERNZSSE2332ERE 70,000 70,000 0
307 glz2+ol & 70,000 70,000 0
10 ALSISXAIEEE2EHEX 70,000 70,000 0
D3 Md=NESs2sd=2EXNE 70,000
M EXNH 2L 23t 30,000 50,000 220,000
201 et 10,000 10,000 0
03 #AL2ZHI 10,000 10,000 0
OAM=XNEE2d2Z5 10,000
308 X EHSOIA 20,000 20,000 0
01 HIXNHMBMNEELS 20,000 20,000 0
OOAS S X QI A g2t 5t 20,000
MBIEXNANEZEANAE NS 9,000 9,000 0
307 glz2+ol & 9,000 9,000 0
11T MISXASEX 9,000 9,000 0
OMIISXANEEEANAEHDS 9,000
FAURAANLISEZ 291,175 0 291,175
= 223,981
< 67,194
403 XSS X201 & 291,175 0 291,175
= 223,981
< 67,194
01 XXM 22 = 291,175 0 291,175
OFNQLAANEI)SEZL 291,175
= 223,981
< 67,194
MEISXANESAMAEZ WS 72,000 72,000 0
307 gl2tol & 72,000 72,000 0
11T M SXAISE EX 72,000 72,000 0
OMBISXTANESANEENSF 72,000
ZAEZAS=ERNEAS 2SN 170,000 170,000 0
307 glz2tol & 170,000 170,000 0
03 BIAHNHE2IHIEL 170,000 170,000 0
OZa=Sz A SAgds 29X 170,000




M ox
40 5 4

D EXAE= M AEI =S X
D NG ASI =S X AME A Z
D NGAS S XA =&

st

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
A2l S X2l & &AL 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
11T AS S RAEE = 30,000 30,000 0
CTALSI S X2 & el A 30,000
BE XA AE =R ALA &3 81,000 81,000 0
307 glz2tol & 81,000 81,000 0
11T M SXAISE EX 81,000 81,000 0
OZ=S XS AL S XA &S 27,000
OZSXNSAMSAMEF=NF 54,000
AN EXNEEHEH2Y 130,000 150,000 220,000
307 2201 A 130,000 150,000 220,000
11 ALS S XALEE = 130,000 150,000 A20,000
OAMIEXNEHELMEH2SE 130,000
ZHEZASSEANAIEAEHEZ S 40,000 50,000 A 10,000
307 glz2tol & 40,000 50,000 A 10,000
11T MISXASEEX 40,000 50,000 A 10,000
OZa4SZ A SEXNUE 2 40,000
ZES0ISMIXR 31,500 31,500 0
307 21201 A 4,500 4,500 0
11T MISAASEX 4,500 4,500 0
ODZE20zsSAE2S 4,500
308 XX EHHSOIA 27,000 27,000 0
01 HXNHHNBHELS 27,000 27,000 0
Z20SMEXR 27,000
HAZEHMUAAENSUS 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
11T M ZXAISE EX 10,000 10,000 0
OIS ZNIAEHSUHSE 10,000
A2l S X2t E ALRHAIO]LE 13,500 13,500 0
307 glz2tol & 13,500 13,500 0
11T MISXASER 13,500 13,500 0
LIAR2l = X 2 S AFXFAILO] L 13,500
M3 SXAELARMEZXH 226,310 226,310 0
301 et A3 226,310 226,310 0
01 AR 2Z A5 3 226,310 226,310 0
OAMA=SXAIELAXAZ X 226,310
SAUQLAANE L AR AZ XS 19,500 19,500 0




AR 2X2AHL=2 2M @ Al =X

H: XSAMS=SXMHEAZS

Sl XS A ZRAY = (B9 ®R)
- _ _ RE]

AT SN BH O (3H) - MEAY - BES Ofl At o4 gﬁ‘&i HR=2
308 XHXIEHSO|A 19,500 19,500 0
01 AIXSHMENMNEX= 19,500 19,500 0

OHAMNQQUAAELAXNYABAH 19,500
ASISEXNAIES ARG 124,848 124,848 0
308 XX GHHM SO0l & 124,848 124,848 0]
01 AIKISHHENEXZ 124,848 124,848 0
OAMSIEXAIESAXE=S 124,848
AL S X2 ESHAY 84,000 76,800 7,200
308 AMXISHMSOIA 84,000 76,800 7,200
01 X HHIMNEEXTZ 84,000 76,800 7,200
OAISI S X2 ESHASY 84,000
ArSI SR 2 At 22 AMSE X E 80,000 0 80,000
308 XX SHHSOIH 80,000 0 80,000
01 AIXSHMEMNEXZ 80,000 0 80,000
OAISI S X 2HAHH 22l AFR G R & 80,000
HAQUANER2A 7,846,715 7,362,467 484,248
= 6,952,785
o=t 893,930
308 XHXIEHSOIA 7,846,715 7,362,467 484,248
= 6,952,785
& 893,930
01 AIKISHHEMNEXZ 7,846,715 7,362,467 484 248
OFMNQLAAER2A 7,846,715
= 6,952,785
o= 893,930
A2 (5H) 2,381,000 2,219,000 162,000
306 542 2,381,000 2,219,000 162,000
o1 s 2 2,381,000 2,219,000 162,000
OS2 G | 1,681,000
D= THE AN HI 700,000
AEENN=S=0I=s=e=2Y 13,200 12,000 1,200
201 LBt ]| 13,200 12,000 1,200
01 AP 22| H| 8,400 8,400 0
Jex2 8,400
OZd=s=X=s00IsE A 8,400
02 2224 H| 4,800 3,600 1,200
I XteF & B 4,800
OdEeEXNE0ISE SR 4,800
AS S XTI S & 2 ALK& 45,000 15,000 30,000




M ox
40 5 4

225t
D AG AR SR AL =&

D EXAE= M AEI =S X
¢ KIS ALE = X A

- _ - s
422 - FH . OA(SH) - HRAY - BER e
307 21201 & 30,000 0
A S XA E X 30,000 0
OMBISXISALRZ DI 2 30,000
308 NHXIEHHMSO0IE 15,000 15,000
01 HXHHBAEES 15,000 15,000
OAMISXNAANZELHALXR 15,000
MNASAZFIRSSREIANY 2,000 2,000
303 Z& 3 2,000 2,000
01 Z2&= 2,000 2,000
OAMISXNFIRESSRE A& 2,000
dFL202de A& 27,000 27,000
307 21201 & 27,000 27,000
A S XA E X 27,000 27,000
OsUH=01243 X 27,000
NAAS MBI AERAIE 2E 10,000 10,000
Xl 7,000
=) 3,000
201 fEt2E | 10,000 10,000
Xl 7,000
=) 3,000
01 AFR 22l 10,000 10,000
Ot 10,000
OXSAS MU AETAIE H RS (NSEE
bl) 10,000
Xl 7,000
< 3,000
NEA EHE AN SR 92,000 92,000
308 MHXIEHMSOIH 92,000 92,000
01 HXHHBAEES 92,000 92,000
OXGAEZEAMS S XA 92,000
ASAME2ZEAMAS U XA 23,000 23,000
= 13,000
< 10,000
308 XXM S0l ™ 23,000 23,000
= 13,000
< 10,000
01 XN EES 23,000 23,000
OXNSMIEHFEAMX DS XA 23,000
= 13,000
=) 10,000
ABI S XIAIE S XA 12,060 12,060




a2 =xAYR SH A=
M XGAMI=XAMEAZ S
Sl XS A ZRAY = CEEEED
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
308 AXISHXMSO0IH 12,060 12,060 0
01 HXHNBMNEXTZ 12,060 12,060 0
COASI S XAIE 2 A XA 2424 & H 6,030
OOAMSI=SXAIE AR A H| 6,030
NS AS S X AY =& 201,150 76,500 124,650
201 L2 H| 29,650 25,600 4,050
01 A2 22| bl 29,650 25,600 4,050
Oget=sH| 8,850
OXNSAIS SR AIY =& L BE=EH| 8,850
R =y 20,800
OXNYGAS SRR E=SL | 6,000
OAMSSXRAIEE IR =L I 10,000
OXNYEAIS E XN MBI AN & =S L0 HI 4,800
202 04| 18,000 18,000 0
01 2LHOHI 18,000 18,000 0
OXNSAS =X S RFE 0B 18,000
203 PR =&lY| 13,500 12,900 600
03 AIHZ=X SR =AH| 13,500 12,900 600
OXNSEAMSISNLMNASSLRFA 13,500
207 A IR &b 110,000 20,000 90,000
01 A2 sS<H| 110,000 20,000 90,000
OXNSAMSBEATEHE 20,000
ORI KN SAIZ EFAHE =8 90,000
308 AXISHXSOoIH 30,000 0 30,000
01 AIXHMBAEXZ 30,000 0 30,000
OFStU=ZSHEAALY 30,000
=X AAE2A2H 40,000 40,000 0
306 EH = 40,000 40,000 0
01 &= 40,000 40,000 0
(JHEHEXN A A2 2H 40,000
NEASAEBAHR2FA 19,500 19,500 0
201 Bt A | 12,500 12,500 0
01 AFR2t2ldl 12,500 12,500 0
O get==H| 12,500
OXNYAIS MHI A S RUBHESH 12,500
202 04| 7,000 7,000 0
01 2LHOHI 7,000 7,000 0
OXS AL MBI AE R FE O HI 7,000
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= 9,673,537
=) 1,243,740
SOIDLAFA BT ASILE & 32,641 44,155 A 11,514
= 28,921
= 3,720
308 XX EHSOIA 32,641 44,155 A 11,514
= 28,921
< 3,720
01 HIXNHHBNEES 32,641 44,155 A 11,514
OEIIJEAMBIAE I E £ 32,641
= 28,921
< 3,720
SHCQAS 2 H S ESHAE X 79,000 79,000 0
= 70,000
< 9,000
308 XXIEHHSOIA 79,000 79,000 0
= 70,000
< 9,000
01 AXHHILEES 79,000 79,000 0
OSHEQAIS 2 HE A A XA 79,000
= 70,000
= 9,000
SHCOSSHNASTAIAMUIA A (2124HI) 613,470 509,839 103,631
J| 471,900
< 141,570




A YEEE: SN =KD
HH: LMY PASA
Sl LOIKIRAHIASS CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 613,470 509,839 103,631
J| 471,900
< 141,570
01 HIXNHHBHNEELES 613,470 509,839 103,631
OSAHESSZNUSSHAE LS NMEASER
2 (erdl) 613,470
J| 471,900
< 141,570
SN ESHMNASSAHEMEIAMNS (BUSANES 158,927 94,670 64,257
)
J| 122,252
< 36,675
308 XtXIEHHSOIA 168,927 94,670 64,257
J| 122,252
< 36,675
01 AXHHIYEES 158,927 94,670 64,257
O=SHESSTHWASSHILEAMEAREX
2 (HFHSXE2) 158,927
J| 122,252
< 36,675
SEHLUESSTHNASSAHEMEIAAG (JI222H]) 53,820 142,646 A\ 88,826
J| 41,400
= 12,420
308 XXM SOIA 53,820 142,646 A\ 88,826
J| 41,400
< 12,420
01 AXHHBYEES 53,820 142,646 A 88,826
O=SHESSHWASS I LEAMEAREX
2 oI22gdl) 53,820
J| 41,400
< 12,420
SHC QI ME 2| AT E 25,000 18,000 7,000
307 glz2tol & 25,000 18,000 7,000
11T MISXASEX 25,000 18,000 7,000
OSsSH-ol e 2| A3 25,000
SHLUSSHFTYEAY 81,000 81,000 0
308 XtXIEHHSOIA 81,000 81,000 0
01 AXHHIYEES 81,000 81,000 0
O=SHEUZSHFATEAEY 81,000
QAESASE XN ALY 270,000 170,000 100,000
307 21201 A 270,000 170,000 100,000
05 RIZtRIEt = 270,000 0 270,000
ORABSASEX A 270,000




M ox
40 5 4

04 F Uit
> oy
W oy
WX 4o 1
0l
5

>

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
HALAIE £ X 599,000 6,501,500 25,902,500
= 444,000
< 155,000
ZAAIEE X ALY 539,000 6,501,500 25,962,500
= 444,000
< 95,000
403 MHXSHHSA=0l& 539,000 6,501,500 25,962,500
2 444,000
< 95,000
01 X ESHHMA=E L 539,000 6,501,500 25,962,500
OOEAAIEE XA 539,000
2 444,000
< 95,000
FANANERNGS = HEATRES 60,000 0 60,000
207 A O] 60,000 0 60,000
01 289 60,000 0 60,000
OFMAETNG =3 HE AT ES 60,000
CANE=ETSH 64,425,178 45,480,804 18,944,374
= 18,359,718
=) 46,065,460
COHIANE2GZRA 11,149,792 10, 144,986 1,004,806
= 3,980,698
=) 7,169,094
ColmARHA 106,200 99,900 6,300
308 XXM SO0l A 106,200 99,900 6,300
01 IXNHHBNEES 106,200 99,900 6,300
OJEoluazdg 106,200
222X & 2,337,600 2,299,834 37,766
307 21201 A 45,000 45,000 0
11T MISRASEX 45,000 45,000 0
De=EZ2AMULASZIZIH#R2S 45,000
308 A EHHSOIA 2,292,600 2,254,834 37,766
01 HIXNHHNBMNEES 2,292,600 2,254,834 37,766
O3YEEAZYI 1,277,650
nzzgd=gid 972,950
O32YEdsAY 42,000
Lo Rs sk 122,600 127,100 A 4,500
307 glz2tol & 50,000 50,000 0
11T M SXAISE EX 50,000 50,000 0
CJYOYOZ &t Ml H = 50,000
308 XXIEHH SOl A 72,600 77,100 A 4,500




A YEEE: SN =KD
HH: COALENEX
©9l: ZOOIA LAY S (e9: & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 HIXNHHNBHNEES 72,600 77,100 A 4,500
avovosos+t=2d 29,400
OyovoSga4dstkad 43,200
F2ESEIIUHEH XA 5,682,191 5,570,891 111,300
= 2,990,625
< 2,691,566
308 AHAIEHHSOIA 5,682,191 5,570,891 111,300
= 2,990,625
< 2,691,566
01 HXNHHNBHEELS 5,682,191 5,570,891 111,300
OZ2YsEIIHHH X 5,682,191
= 2,990,625
= 2,691,566
I2ELRHIXE 1,216,269 1,196,785 19,484
= 640,140
=) 576,129
308 XXM SO A 1,216,269 1,196,785 19,484
= 640,140
=) 576,129
01 IXNHHBNEES 1,216,269 1,196,785 19,484
O3 =dX2 1,216,269
= 640,140
< 576,129
2 GHLHIXE 378,816 373,548 5,268
= 199,375
= 179,441
308 XtXIEHHSOIA 378,816 373,548 5,268
= 199,375
< 179,441
01 HXNHHNBHELS 378,816 373,548 5,268
O3HSHIXZ 378,816
= 199,375
< 179,441
Z2YZINJALEHZ I 301,116 271,928 29,188
= 150,558
< 150,558
307 glz2tol & 301,116 271,928 29,188
= 150,558
< 150,558
10 AL SXNAIEEE2EH EX 301,116 271,928 29,188
OZ2EZAXNJALUE2EH X 301,116
= 150,558
< 150,558
HEZZHAMAASINESNA 1,000,000 200,000 800,000
307 glz2+ol & 1,000,000 0 1,000,000




A= SXAL= M eE=R1
HH: COALENEX
©9l: ZOOIA LAY S (e9: & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
11T M SRASE EX 1,000,000 0 1,000,000
OH=SZ2HMdALSAEZ A 1,000,000
Lo =ENA2INR 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
11T MISRASEX 5,000 5,000 0
O =X2SALLS 5,000
LASXNANESES 15,913,820 6,610,402 9,303,418
= 9,374,494
< 6,539,326
F2YISsELAY 3,345,000 1,621,500 1,723,500
403 XIS S X201 & 3,345,000 1,621,500 1,723,500
01 XXM 22 = 3,345,000 1,621,500 1,723,500
OJZ2YMHE At 3,144,000
O3 2ot 2e|CCTVA X 201,000
LO=ERAEIISsELAY 12,568,820 3,488,902 9,079,918
= 9,374,494
=) 3,194,326
403 MtXISHH S A0l & 12,568,820 3,488,902 9,079,918
= 9,374,494
=) 3,194,326
01 AXISHHA=2E = 12,568,820 3,488,902 9,079,918
O =XNAIE)IsEZAY 12,568,820
= 9,374,494
< 3,194,326
LA=EXNANER2E 37,361,566 28,725,416 8,636, 150
= 5,004,526
< 32,357,040
LOETNANLE2E XA 31,058,130 23,484,430 7,573,700
307 21201 A 41,000 41,000 0
11T MISRASEX 41,000 41,000 0
OLsSTAENANME A B HASFMNS 23,000
OLSTANL2IE2HdHX R 18,000
308 XXM SOIA 31,017,130 23,443,430 7,573,700
01 AXHHBISEES 31,017,130 23,443,430 7,573,700
ORI LsXAEs323NA 12,480
OLQ=2XAESAR =S 1,649,448
OIS AHE S XA 28,194,562
OIS ANS0HE XA 1,160,640
LZANE2EXE 5,428,408 4,651,692 776,716
= 4,809,982
=) 618,426




A= SANAL= EM s sX
Hu: COALENEA
S9l: To=TAESY CERED
4324 BH . GH(3AH) - KR - BLS of 4 o4 il HI RS2
308 XXM SO0IH 5,428,408 4,651,692 776,716
= 4,809,982
S 618,426
01 XM BadE2ES 5,428,408 4,651,692 776,716
OgZANL2E N 5,428,408
= 4,809,982
S 618,426
CAANEXNEAGERFA 66,100 33,100 33,000
201 fEt2E | 31,100 4,800 26,300
01 AtR 2t 2l | 31,100 4,800 26,300
Oget+=EH 2,000
OLANET Y R+=2H| 2,000
Os2g+¢ 26,500
OdANEXE2ERE3=E 500
O d=XANEE =& X2 26,000
O=etl 2,600
O AdANERN LTS A 2,600
202 o4l 10,500 10,500 0
01 S LHO LI 10,500 10,500 0
O AEXHL 2T 10,500
203 R =l 4,500 4,300 200
03 Al FXH =AY 4,500 4,300 200
OANEX@gRF=a 4,500
307 glztol & 20,000 13,500 6,500
M ASIMNSEER 20,000 13,500 6,500
OcSXAETHESAAY 20,000
S=FAIANHEEAT A (EX) 136,000 181,000 245,000
= 136,000
308 XX SIS0 & 136,000 181,000 A 45,000
= 136,000
01 UAXESHHBLEXS 136,000 181,000 245,000
Og=A=aAgelstel X 136,000
= 136,000
Atgelstel X1 & 30,000 40,000 210,000
308 Xt &M S 01 A 30,000 40,000 A10,000
01 HAHHZEEES 30,000 40,000 210,000
OOAMEE eIt Z& 2 ALY 30,000
Mot SXAIE2g 566,820 260,964 305,856
307 glztol & 70,500 40,500 30,000
M AMSIMNSEX 70,500 40,500 30,000
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== A
N = 0] &F AF S & AN A
20188 &= 20 A LEHSH A Xl
a2 =xAYR SN M= D
HE: ZO=XEH
ol FOHOIMBOIH R CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
00 el = X| 1t 189,393,279 175,544,249 13,849,030
= 147,192,468
Jl 1,758,000
& 40,442,811
PSR-\ == | 189,268,719 175,455,009 13,813,710
= 147,192,468
J| 1,758,000
o= 40,318,251
ORI M EHOHAE X & 107,713,039 92,980,984 14,732,055
= 94,937,235
o= 12,775,804
ZOIAZS A 53,571,285 47,221,034 6,350,251
= 48,575,000
=} 4,996,285
308 MXISHMSOIA 53,571,285 47,221,034 6,350,251
= 48,575,000
& 4,996,285
01 IXHHIMNEEXTZ 53,571,285 47,221,034 6,350,251
&M AZ XA 53,571,285
= 48,575,000
== 4,996,285
OSSR (INIx) 6,347,983 6,347,134 849
= 5,624,795
o 723,188
308 XHXIEHSOIA 6,347,983 6,347,134 849
= 5,624,795
o= 723,188
01 AIXSHMEAMNEX= 6,347,983 6,347,134 849
OSSR (II=x) 6,347,983
= 5,624,795
= 723,188
OSSR (Xafl) 4,752,706 4,653,477 99,229
= 4,211,259
& 541,447
308 XNXIGHHMSO0l& 4,752,706 4,653,477 99,229
= 4,211,259
& 541,447
01 IHXHHNBIMNEXS 4,752,706 4,653,477 99,229
OXMH=S X2 (XA 4,752,706
= 4,211,259
= 541,447
o elol 2 HI X & 1,785,330 1,668,400 116,930
= 1,660,772
o 124,558
308 XX SHHSOIA 1,785,330 1,668,400 116,930
= 1,660,772




A YEEE: SN Zope =R B
Hy: H=XEA
CHol: FOJQI M E OHE K| CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
== 124,558
01 IXNHHBNEES 1,785,330 1,668,400 116,930
J&ofelel 2l X & 1,785,330
= 1,660,772
< 124,558
ORI E XD KA 75,623 81,400 AN A4
= 70,347
= 5,276
308 XX EHHSOIA 75,623 81,400 AN TTT
= 70,347
< 5,276
01 X HHILEXS 75,623 81,400 NS, TTT
OFMHAEZIIIIXA 75,623
= 70,347
< 5,276
FUSSHMNE2E 48,100 48,100 0
= 37,000
< 11,100
308 AHXIEHHSOIA 48,100 48,100 0
= 37,000
< 11,100
01 HIXNHHNBMNELS 48,100 48,100 0
OZSsSEMNE2SE 48,100
= 37,000
< 11,100
O AHAEYA0E2 X 86,761 84,049 2,712
= 76,877
< 9,884
308 XXM SOl A 86,761 84,049 2,712
= 76,877
< 9,884
01 AXHHILEES 86,761 84,049 2,712
OO AHAELA00EESXE 86,761
= 76,877
< 9,884
O ESXNIASHXA 31,026,686 25,655,744 5,370,942
= 27,492,000
< 3,534,686
308 MtXIEHMSOIH 31,026,686 25,655,744 5,370,942
= 27,492,000
< 3,534,686
01 HXNHHBHELS 31,026,686 25,655,744 5,370,942
OsXd30(H2H) 31,026,686
= 27,492,000
=) 3,534,686




SXAL= M ZOHASX
oI =X E
ZoHoI MBI HT B CER-ED
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
22X 32N 47,037 47,037 0
= 41,678
< 5,359
308 AHAIEHHSOIA 47,037 47,037 0
= 41,678
< 5,359
01 HIXNHHNBHELS 47,037 47,037 0
OO E8sEXRINNMZ0H (HIRH) 47,037
2 41,678
< 5,359
ZOHAU=S XL X2l AL 3,215,784 2,494,346 721,438
= 2,473,680
< 742,104
308 XXM SO A 3,215,784 2,494,346 721,438
= 2,473,680
< 742,104
01 IXNHHBANEES 3,215,784 2,494,346 721,438
XM S XL Atel AL 3,215,784
= 2,473,680
< 742,104
Foj et ATl ALY 4,691,541 2,734,402 1,957,139
= 3,608,879
< 1,082,662
308 XX EHH SOl A 4,691,541 2,734,402 1,957,139
= 3,608,879
= 1,082,662
01 HXNHHNBHEELS 4,691,541 2,734,402 1,957,139
O Lt dXtel X3 AS 4,691,541
= 3,608,879
< 1,082,662
ZoHoI ety AT 2| AP (Al 2EAI) 755,700 649,231 106,469
= 581,308
< 174,392
308 X EHSOIA 755,700 649,231 106,469
= 581,308
< 174,392
01 AXSGHBLAEES 755,700 649,231 106,469
COIEoHeldBrE A Xtel At (Al2EA) 755,700
= 581,308
< 174,392
Al 2L ZHOH QI HOFAFTIHA AHS 443,040 431,774 11,266
= 412,130
< 30,910
308 XXIEHH SOl A 443,040 431,774 11,266
= 412,130
< 30,910




AR =xA2R SN FHOI=XD
Hy: H=XEA
Chol: EO) O A SO X 2 (SHol: @)
L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 443,040 431,774 11,266
[ AI 24 2O Q1 OFOF AMIF 2 AFES 443,040
= 412,130
< 30,910
SxStWHASEOHI2HE st X & 41,000 41,000 0
308 XXM SOIA 41,000 41,000 0
01 IXNHHBANEES 41,000 41,000 0
OS5+t ASTA2ESH X & 41,000
HOHESE X XA (XA 731,500 730,500 1,000
308 XX EHHSOIA 731,500 730,500 1,000
01 HXNHHBHELS 720,000 720,000 0
DX EsEZAEIAX R 720,000
10 3|2 SO ZAEEALS I 11,500 10,500 1,000
O esEXZAMUIAXNRARAE =2 11,500
HEHNULAES AL el At 92,963 79,898 13,065
= 71,510
< 21,453
308 XtXIEHHSOIA 92,963 79,898 13,065
= 71,510
< 21,453
01 AXHHBILEES 92,963 79,898 13,065
OZYSHHU LA ESAIE LR AL 92,963
= 71,510
= 21,453
ZHof ol = X Kl & =T 13,047,267 11,081,589 1,965,678
= 6,495,266
< 6,552,001
FOUHAHAZEHINAIE2SH 161,470 161,470 0
= 64,588
< 96,882
307 21201 A 161,470 161,470 0
= 64,588
< 96,882
10 ALl SXAIEEE2EH EX 161,470 161,470 0
O MMSZEHIAIE2SA 161,470
= 64,588
< 96,882
e ZoHel s X 2 (XA 45,000 45,000 0
= 31,500
= 13,500
307 izl & 45,000 45,000 0
= 31,500
< 13,500




A= SXAL= M ZOHASX
Hy: H=XEA
Sel: ZOH =KX 2=t (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
11T M SRASE EX 45,000 45,000 0
O =X A A 45,000
= 31,500
< 13,500
HEZHMHI WX (XE) 59,346 57,868 1,478
= 52,585
< 6,761
308 XXIEHH SOl A 59,346 57,868 1,478
= 52,585
< 6,761
01 AXHHILEES 59,346 57,868 1,478
O A 2 S HEU XA 59,346
= 52,585
S 6,761
OEEELHIEXE A 83,514 83,740 A 226
= 74,000
< 9,514
308 MtXIEHMSOIH 83,514 83,740 A 226
= 74,000
< 9,514
01 HXNHHNBHELS 83,514 83,740 A 226
OW&ZM =4S 83,514
= 74,000
= 9,514
ESTMANSHE(IL)SIEXE 177,880 165,300 12,580
= 122,676
< 55,204
308 XX EHHSOIA 177,880 165,300 12,580
= 122,676
< 55,204
01 IXNHHBNEES 177,880 165,300 12,580
O=SSZMAXNSME(IL)2L XS 177,880
= 122,676
< 55,204
NEFOHIXRMEH2SE 398,000 328,000 70,000
307 21201 A 130,000 130,000 0
11T MISAASEEX 130,000 130,000 0
OEXHYEMWAXNBLMHZ2SA 130,000
308 A EHHSOIA 268,000 198,000 70,000
01 HXNHHNBHEELS 268,000 198,000 70,000
OAMZXNEHFEHAXNZLEH2SE 268,000
O THEXR2HHZ S 59,000 59,000 0
308 XXM SO A 59,000 59,000 0




AR =xA2R
Hy: H=XEA
&S ZHASX X2 (&)
AR SN FH - S(EA) - A 0l &t o R Bl RE2
Ol & o
01 HIXNHHNBHNEES 59,000 59,000 0
OZMMHMEXNRALMH2H 59,000
ZOHCI=S XX &AL 1,313,000 1,069,900 243,100
308 XXM SOIA 1,313,000 1,069,900 243,100
01 AXHHBILEES 1,313,000 1,069,900 243,100
Os0tp E3 282 23HALS 9,000
O =2XNM2LMOXA 20,000
OAZUSMINSASHEHZSE 524,000
ONsSHMHAEHESAS 25,000
OAMZXHMEHAALSTHHNZLUEHSSE 299,000
OANZEHZHL MEXLMHSSE 117,000
OAMNZEHHWLZESXNAMH2 S 130,000
OAZAEHSEAEA2S 54,000
OANZHEHEHAA AL A0S MNE 2
A& 81,000
OANZAMENLMEASARSA 54,000
ZOHQI M ASEHIAIE XA 220,000 180,000 40,000
307 glz2+ol & 220,000 180,000 40,000
10 ALSISXAIEEE 22X 220,000 180,000 40,000
LEON A SEOHAIE XA 110,000
O MMSEHIAIEXNA(ZE) 110,000
ZOHUEHOJAN LS AN A 1,008,200 820,200 188,000
307 gl2tol & 305,000 300,000 5,000
11T M SXAISE EX 305,000 300,000 5,000
OFMHAHAJALFSIHZ2S 105,000
OEXNMEHQAEAAIEHMHZ2E 200,000
308 XX EHH SOl A 703,200 520,200 183,000
01 HXNHHMBHEES 703,200 520,200 183,000
OAMZXMEHABIALEEHZ S 520,200
[J2018Z OH QI B 2| Al & A B & = = At 183,000
ZOHOITHE A X 2 1,760,657 1,521,416 239,241
307 21201 A 255,000 180,000 75,000
11T M SRASEEX 255,000 180,000 75,000
OEHOMWINEXNZMEH2S 205,000
OYY I EHAEAMNS 50,000
308 XXM SO A 1,505,657 1,341,416 164,241
01 IXNHHBNEES 1,505,657 1,341,416 164,241
OANZEH st sXNJMEH2SE 63,457
OANZHOUNESXNLMEHZ2SH 465,300
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J| 1,272,722
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CIXI0H X 222 "] X & A 1,654,539
J| 1,272,722
& 381,817
JAZSCEZAXHMEHS S 641,430 632,882 8,548
J| 449,001




a=: o= 2 = 2
HE: BMALBRAMAN TS
Sol: FAALSHAY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
=) 192,429
307 glz2tol & 641,430 632,882 8,548
J| 449,001
& 192,429
05 Rzt E = 641,430 632,882 8,548
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= 1,664,913
01 AXHHBIYEES 23,863,748 0 23,863,748
OXIHt A dlE 2 F K& 23,863,748
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= 3,295,297
J| 6,086,814
< 4,124,455
FH2ACAEFA 21,550 0 21,550
201 Let249] 13,000 0 13,000
01 At 22/l 13,000 0 13,000
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202 44l 8,550 0 8,550
01 = LH 4 1l 8,550 0 8,550
OgzegRF=80H 8,550
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ol 2HH| 643,951 551,494 92,457
101 @121l 623,971 534,514 89,457
01 2% 623,971 534,514 89,457
OoJi=ss 507,921
Od=H 149,001
-532 74,500,400& x2H 149,001
Oz sH 321,452
-2 (265 2) 3,828,800 x3H x12& 137,837
-72 (255 2) 3,442 ,600& »3¥ x12& 123,934
-82 (138 E) 2,486,700 x2H x12& 59,681
o&dz=4¢ 321,451,200 *1/12%x50%*23] 26,788
O&dIZx=4Itat3 10,680
- 25E 0l & 130,000& *x3YH x12& 4,680
- 20 0| AH~25E 0] 2t 110,000& x2H x12& 2,640
- 1549 0l &~20= 0] ¢ 80,000& x2H x12& 1,920
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